SmallRig

\@.
ur.ﬁmﬂxnﬂlly\h

'sq||‘

Basic Cage Kit for
RED KOMODO / KOMODO-X

User manual



Thank you for purchasing SmallRig's product.
Warnings
* Please read this User Manual carefully.

* Please keep this User Manual. Always keep this User Manual. When passing
the products on to the third party.

* Heed all warnings and follow all instructions in this User Manual

In the Box

R\ghl S\de P\ateﬂ Baseplate x 1

Ilim@}ll

Lens Mount
Adapter Support x 1 Monitor Mount x 1

Top Handle x 1

Top Plate x 1



Product Detail Display

@ 1/4"-20 Threaded Hole (® Flat-Head Screwdriver
@ ARRI 3/8"-16 Locating Hole @ Allen Wrench

@ NATO Ralil Cold Shoe Mount

@ 3/8"-16 Threaded Hole @® Allen Wrench

® Mé Threaded Hole —02—



o X 0T
w0 .mfmm
— » T WO+
To%c—o
oWV g @ S
L
s8R 8g
v=9oz2Pag
£~ O35
tosd.mw
Ve T2
ooy 2
o= 522

T L O g
Eacnlyg
LOT o FBE
B3 Ea® @
fogoeyg
[ = R}
Z238285
o oL =
2552238
Hhal<EE~a

1. Cage Installation Introduction

KOMODO-X

@ Baseplate Installation:




Step 2: Align the Baseplate with the
1/4"-20 threaded hole and 3/8"-16
threaded hole on the bottom of the
camera and lock the 1/4"-20 screw
and 3/8"-16 screw with the Flat-Head
Screwdriver.

@ Side Plate Installation (same steps for Left and Right Side
Plate):

Align the Side Plate with the M4 threaded holes on the side of camera and Baseplate,
use the Allen Wrench @ to lock the one M4 screw on the top and the two M4 screws
on the bottom.

*The camera is not included in the package.

—04—



@ Top Plate Installation:

Align the Top Plate with the 1/4"-20
threaded holes on the top of the
camera (with the logo facing forward)
and secure the Top Plate by locking
the two 1/4"-20 screws with the
Flat-Head Screwdriver.

*The camera is not included in the package.
KOMODO:
@ Baseplate Installation:

Align the Baseplate with the 1/4"-20
threaded hole and 3/8"-16 threaded
holeon the bottom of the camera and
lock the 1/4"-20 screw and 3/8"-16
screw with the Flat-Head Screwdriver

* The camera is not included in the package.

—05—



@ Side Plate Installation (same steps for Left and Right Side
Plate):

Align the Side Plate with the M4 threaded holes on the side of camera and Baseplate,
use the Allen Wrench @ to lock the one M4 screw on the top and the two M4 screws

on the bottom.

@ Top Plate Installation:

Align the Top Plate with the 1/4"-20
threaded holes on the top of the
camera (with the logo facing forward)
and secure the Top Plate by locking
the two 1/4"-20 screws with the
Flat-Head Screwdriver.

*The camera is not included in the package.



2. Top Handle Installation Introduction

Loosen the knob of Top Handle
(approx. 2 turns) to unlock the
NATO clamp, slide the handle
into the Top Plate from left to
right and then lock the knob.

% Make sure the knob is facing
the lens when mounting.

&
* The camera is not included in the package.

Depending on the application, the front
and rear adjustment can be made by
loosening the two 1/4"-20 screws on
the side of the Top Handle with the
Allen Wrench @.

*" % The camera is not included in the package.

—07—



3. Monitor Mount Installation Introduction

Monitor Mount Installation:

Align the Monitor Mount with the
ARRI 3/8"-16 Locating Hole in the
front of the Top Handle, lock it in
place with the hand screw and
then reinforce it with the Allen
Wrench @.

Align the Lens Mount Adapter Support
with the M4 threaded holes on the front
of the Baseplate and lock the two M4
screws with the Allen Wrench @.

% The Lens Mount Adapter Support only fits
the following Lens Mount Adapter:
Metabones ARRI PL Lens to Canon RF-Mount

]

- z T Cine Speed Booster ULTRA 0.71x (EOS-R)

*The camera is not Metabones Canon EF Lens to RF-Mount T CINE
included in the package. Speed Booster Ultra 0.71x Adapter (EOS-R)




Compatibility
RED KOMODO
RED KOMODO-X

Specifications

Product Dimensions: 167.3 x 119 x 173.3mm
Product Weight: 534g + 5.0g

Material(s): Aluminum Alloy, Stainless Steel




